MTH2118: Business Pre-Calculus
Assignment #5 is due on Monday, July 6, 2015 @ 12 noon
SECTION A:
Choose the best answer.
1. When a 3 x 3 matrix is multiplied by a 3 x 1 matrix, a matrix of what order is obtained? 

I.
3 x 3

II.
3 x 1

III.
1 x 3

A. I only

B. II only

C. III only 

D. Neither I, II nor III

2.
What is the result of multiplying 
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A.
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B.
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3.
What is the result of
3[image: image8.png].
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B.
[image: image11.png].





C.
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D.
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4.
Determine the transpose of 
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A.
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B.
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D.

[image: image20.wmf]123

321

012

éù

êú

êú

êú

ëû


5.
Given
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Find BA.

A.
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6.
Determine the matrix: A – I2, if 
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7.
The inverse of a 3 x 3 matrix may be found by transposing the:

A. matrix of cofactors and multiplying the results by the reciprocal of the determinant

B. matrix of cofactors and multiplying the results by the determinant

C. coefficient matrix and multiplying the result by the reciprocal of the determinant

D. coefficient matrix and multiplying the result by the determinant

8.
Given that matrix
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, 
what is the determinant of A?

A.
–8
B
–6

C.
6
D.
8

9.
Calculate the determinant of the matrix:
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A.
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B.
0

C.
4
D.
-4

10.
Calculate the determinant of the matrix :
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A.
-6
B.
9

C.
18
D.
21

11.
Given that:
A = [image: image37.png]


, calculate the determinant for the matrix A.
A.
1
B.
-1
C.
2
D.
-2

SECTION B

Show details of working for the following problems:

12.
Given the matrices:
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Calculate, if possible:

(a) A + 4B

(b) (BC)T
13.
If 
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find C2.

14.
Compute the determinant of the following matrix.
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15.
Solve the following system of linear equations by any matrix method.
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